
                     SAMPLE QUESTION 2021-22 

                                RAI (CODE NO.131) 

                                      CLASS-X                                               

Time-90 Minutes (Term-I)                                    Total marks- 40 

Instructions: 

                    tTyuol nLibhbr mloazml elozsua euibal qbrnzpu of         

                    hbrgbrhbr abfzglozib euiboue ; 

 hbr dbgrozqb hazDb Rbf ybf- :a:   

 Rbf :a: qb yumlhbr gbofzqb dbgro ybf / 

 Rbf :a: qb hsf dbgrohbr ebazma sbnzmuhb abrezDu / 

 hbr. hre. hbk. sbnwbdbqb hsf wbezhb vrnzDu / 

 

 

                          Rbf-a 

                  yumlhbr-dbgro 
 

dbgro 

ofzebD 

                   sbnzebkl sbn   nLibhbr          

  ofzebD 

 dbgro 

  1. 

tTyuol nLibhbr sbnzebkl sbn dbhusbf ha elozsuazoro qbrnzpu; 

 

hazpbp glfzibfzhbr ha prozqb haznbf suyuaunznb yufbfb / ebr 

glfzibfzhbr tbf jRzRr pbybel of dbmunzel ybfb / hazwro ebr 

suyuaunznb eLob ebr glfzibf tbfhbr tbfzdlezqb dbkbal tbf gupzqb 

yfzeb nufgb- tbfzmTybr ! hfabhb hbyl pbkl hf tfznbra jRzRr 

suyuaun tfzybhbfzfb / tbo hfzabsbf dbob ibabrfb jRzRr dbjbel 

wlebal tfeb gufbfb !! tbfzhb yfb- :ou ! dbobsbf hfzab ibabr dbjbel 

eob wleb pkLhbr / ero dbobhb dbylguhbr dbjbhbr gbab Dm ? hfabhbob 

hazDbDhuozRb dbjb nLeb kfb, ero jRzRr nLeb kLfb / dbhu dbjb nLeb ?: 

ebr eLobhb qlsbf ebozelDzgbfb wbrib- tbfzmTybr ! hfzab tbf wleb gLfbfb 

/: tbfzhb hlybfzgb wbrib-:hbr glfzibfhbr tbf ob hfzab ! dbob tbf wleb 

gLibwbr hfab hbe dlezqb dbDzebal yufzeb qbrkb / euhlgb eue / 

hfzab ob kLfb / ero dbobhb hbr glfzibfhbr tbfzgbe abmlhbr nbfzduo 

duozeb pLkL ?: ebr eobhb wbrib-ebhbf tbfzmzybr! euylgb eueb hfzab 

hkLoLf ! hfzabhb Rrezabsbf euylgb nbfzduo duozeb elobfzhbr 

ebDzoLfb / 

     tbfzhb wbrib- euylgbwbr dbob ebfzabrwro ibybfqb hfab guDzRb 

dunzgl Djbo ! dbauD wrDzwbr hbe abrfzqb ouwbrazol elDzDu, 

dbhlguhbr dbjb dbob hfab qbfzab DbDzgl elmlof ybhbf , hfzab 

wbribfouf / 

5x1=5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 tTyuol nLibhbr Rbfzab mloa hugb dbhuhbr ybfzeb euiboue ;-  

 

     (i) hazDbD glfzibfqb gbf yufbfb ? 

(a) suyuaun 

(b) tbf 

(c) dbkuel 

(d) dbmunzel 

01 

 

 

 

  

     (ii) dbjbel wleb gbhbf guibfb ? 01 



(a)  tbf 

(b)  suyuaun 

(c) proznbfzml  

(d) ibazgfzel 

 

 

 

 

      

(iii) 

tbfhbr dlezRb gbf dbkb ? 

(a) iazgfzel 

(b) proznbfzml 

(c) suyuaun 

(d) gfabel 

01 

 

 

 

 

      (iv) tbfzgbeabml duozeb pk ? gbfzhb wbrib ? 

(a) iazgfzel 

(b) suyuaunb 

(c) proznbfzml 

(d) tbf 

01 

 

 

 

 

      (v) ebfzabrwro dbob hfzab Dunzgl jbob, gbfzhb wbrib ? 

(a)suyuaunzhb 

(b)iagfzelhb 

© tbfzhb 

(d)ybibmlhb 

01 

                                  ebfzwbr  

 elosbnhbr elozsuaol qbrnzpu;- 

     

             trodbecu tbyetby kbibhbr eobml eybhbf / ebrml Jbkbhbr 

hbozmbr yf gbibylfgb, klque –nbfque xbngf, of ofoumbml oboql 

eybhbf / qgrr, qlibwl, wbrgbrk, obeguf obozql ofoumbml hb – 

hbozmbr kbibmlhb jqzqr slybwbraol of JbaJbakbfol eueb eeu / 

ebrylgbalyb hbr trodbehbr Jbkb mbrfwbr hbkbfhbr eobml kbqb 

alkbibml juqb epbo, of dbrabrmlhbr sbf hmbr ofoumb eybhbf / ebr 

ofoumb gbarib, jqzqr slybwbrazol of JbaJbakbrfol eueb eeu / 

alkbib kbhl kbibmlhb mybfgb cbfbhbr hbr ofoumb gbarib, 

ebrabrmlhbr abyq jqzqr ermbrehbr ofoumb / hbr ofoumb hapbp 

jqzqr hbkbfhbr of ha ibkfhbr qbpzeu duybhbr ofoumb / hbr 

ofoumb alkbp kbhl kbibhbr ybawbr olsbf olgbemlhbr eobmlhb 

sbf hbr ofoumb jqzqr gbrGbrazol tibp eueb eeu / gbarib ofoumb 

alkbp kbhl eobmlhb ha qbfab tibqu eueb eeu / juglqu 

jlxleb tljwbhbr wbvrn qbfab krab wropbkl dbroal tibglqu 

dbozqlkl tljwbhbr wbvre qbfab hrab ebozqr vbrrab wromlpbkl 

eueb eeu / jlxleb tljwbqb euebhbr gbarib, qbrf ibfb of dbozqlkl 

tljwbqb euebhbr gbarib qbrfqbib, yflo / tibprpfb fbnbrml klybrfeb 

ebfhbr fbnbrml /hbralyb alkbibml klybrfeb agbre of klybrfeb 

fbnbr abeuml wbral yflo of glozplo / 

      hbkbf- hbkbfqb ob alkbib eobmlhb gbarib fbnbr, ofoumb, hb-

hbozmbr proqbfb eueb eeuibfb / ero hbhlelp obwbr Jbkb alkbibml 

ha dbeqb puibal Jbkbfb epbrfbal jqzqr JbaJbakbrfol gbarib 

ofoumb eueb enufgbhbr eybhbf /hbrgb kbibmlqb ha dbewbhbr 

elosbrf nbrybhbr gslosuf pbraplo / ebr qbrfibfb – jlxleb 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



tljwbhbr wbvre wbnznb qbfab nufgbal krgl wro , vbrrabwroml 

pbkl alkbibmlhb qbrf ibfb gbarib eueb eeu / qbrf Gbozwbhbr 

ybajbwbmuf qbrfabnqb ibazeb wltlqb hbrgb qbrfan Gbozwbhbr 

ofoumb ebozqr qbrf ibfb gbarib sbf eyf /  

 

 

 

 

 

 

 tTyuol nLibhbr Rbfzab mloa hugb dbhuhbr ybfzeb euiboue ;-  

     (i) Qqbrfzibf gbarib hbrazmb qrezabwro pbkl euylo ? 

(a) krabwro 

(b) guezabwro 

(c) jlxleb 

(d) ha-hrdn 

01 

 

 

 

 

     (ii) Dbozqlkl tlnzwbqb eueb gbarwb ql yflo ? 

(a) qbrfzqbib 

(b) sribkl 

(c) mjuf 

(d) pueznugrib 

01 

 

 

 

 

     (iii) gbaribqb qlhbr fbnbr wl ? 

(a) xbeznufzhbr 

(b) trozdbebhbr 

(c) klybrfzelhbr 

(d) guezolebhbr 

01 

 

 

 

 

     (iv) Alkbibmlhb gbarib dbhlgbal eueb eeu ? 

(a) xbrezebal 

(b) glwzwl euebal 

(c) grib euebal 

(d) JbazJbazkbfzol 

01 

 

 

 

 

      (v) alkbibmmlhbr ofzoumb ; 

(a) Qqgrr 

(b) obezguf 

(c) gbarib 

(d) wbrguf 

01 

 

 

 

 

dbgro-

2. 
tTyuol sbnzDbhbr Rbfzab dbhusbf ha sbnzebkl sbnzhbr 

elozsua euibal qbrnzDu ;- 

  
oldlezmlqb  fbnbr eueb hdle slkbal wbrozpbhbr jqzqrab  

wromlhbr qrfqb tklvazp jbeob dle wbgbfb / dbqb sbf ebooboznbf 

jlybfb , wbe abnqb hapbp dbrazwl wlnzebdbpzeb qbrkbfb / dbdup 

wleb euibfb /  jlybhbr jlybfb euibtlqb sbf ebr tunkuib dbrawlqb 

auozmuaib wlebtbazybfb / vrib, nrogbeml nbDeb nufgbfb 

/guauwuawua dbdupqb hatgbDhbr gbfeu huo hroybfb / 

              ero olyba guwbe ebpzqf tlqb, obnwu orofb ebr gbfeu 

hroybfgb jlybfb /ebr tunkuib dbrawlqb hmlp huofb db qbkbfb / 

muazwbr wbe, alklklib dbftlqb sbf qbpzeb kolohbr wlgb /euybawb 

5x1=5 



nbfybfgb dbpybfb, dbdup nbroybfb /ebr jbeobhbr abrfqb hbrwl 

elosbemlhb pbeb dbpzeb mybfhbr ybfb /dbrgbrhbr abrfqb hbrwl –

hbrwlhbr elosbeml elpzeb nufgb /ebr tunkuib dbrawlqbfab 

wbroeb tbozolsbf jqzqr do wbe ybf/ dbrawl tTybhu crp sbf 

hapbp clib ybhbf, auozmuaibqb ebr clib dbylgbpzol wlnzeb dbpzeb 

, ol  elogb jbeobhbr abrf cuoybf /  

jqzqr jropbkl jlybmlybhbr qrfqb mbrenlofb ebr tunkuib dbrawl 

wrobal tbrfzau areqb pbwb / tbo ebr jbeob tbrfzau are-are 

wlybfgb jleb nufgb / dbpybfbtlqb ebrgb hmlp tTybpzol ha nbf 

dbranb eob  dbrgbrhbr hjuqb jlybfbhbr hdb , tbo ebr dbranb clpzfbal 

dbrabr oro mrnzgb dbpzfb ol elogb abrwbfb, ebrqbfab jbeob tbwr – 

tbwr jleb nufgb , ero dbrabr clpzeb ebokqb / ebrqbfab qrfqbfabfb 

nbkb, abrnb....! haqu hribolo ob, dbpzol pdbpybfhbr ? hazol 

dbpzmlor ol wbrib , dbranbhb ebr hrobal ebotfnbf mbrenlo jleb 

nufgb / 
 tTyuol nLibhbr mloa huozgb hpzglo of ouglohbr glozmbrf 

nbhu ; 

 

     (1) jqzqr aeb euybfb; –  

(a) abglquel 

 (b) dbranb  

 (c) jbezob 

 (d) gbybkuml 

 01 

 

 

 

     (ii) tbrfau are-are jlybfb-  

(a) vrib-nrozgbezml  

(b) dbraznb  

(c) tklvazp 

(d) jbezob 

01 

 

 

 

 

 

    (iii) Dbaup jbezob jlybfb trRb dbfbr DbrazDu-  

(a) nrozgbezml  

(b) hLaznbf eLob  

(c) dbraznb 

(d) tbrfzau 

01 

 

 

 

 

 

    (iv) auozmuazibqb gbf jlybfgb  ql elDzDufbrhbr ybfb-  

(a) dbraznb  

(b) abOglquel  

(c) hLaznbf  eob 

(d) jbezob  

01 

 

 

 

 

 

    (v) ebr jbezobhbr of-  

(a) vribml  

(b) dbraznb eob  

(c) tklvazp 

(d) gbybkuml 
 

01 

 

 

 

 

 

                        ebfzwbr  

 Sbnzebkl sbnzhbr elozsua oro qbrnzDu;- 

hawro gljrebhb dbrawl qbfab jqzqr prndboml duybal wbgb jbob 

olebf/ ebfabrwro ebr Drndboml oetaouqb Grybal hsb- dbhbr 

 

 

 

 

 



Drndboml ouwbraol dbfu, hfab dbawl qbfab maolfb wbjbozfb yfb/ 

dboal dbrabr gUml wbegl dbrawl tTybol dbkb olebf/  

 ebr wro wrowrpwbr obe sbgb wlgbolebf/ dbawl qbfab gUml 

duybal gljrebhbr ebeb hdle wbgb jbob/ hduoml obozpbal 

gljrebhb Drodboml dbfeb tlqb wrowrpwbr obe taouhb 

Drndboml sbribal hmlwbr wlgbhbr ybhbfb olebf/ ebr pbrazpbal 

gljrebhb elobfb, hby gljrhb Drndboml ouwbrazol ebodbfb, 

hbralhb oleobmlhb Drndboml dgb nib oltr/ dbroal dbrabr jIr 

mknznb abkbal hsb nbpzpu of Ibpzpu olebf/ 

 hbhl pbkl jIr ougbribe euybfgb pbhbr ebeb qbfab nbpzml of 

Ibpzml clpzeb tlqb gbjrhb sbf jIr abrfpua euibal hdle slkb 

olebf/  

 hsbhb hmbr yfml eboabfbhbr elobal gljreb jqzqr mknznb 

abkbhbr ybhbfb olebf/ hbralyb hsb dle slkbal wbroeb tlqb 

dbrgbhb qlpzsbf eboeloeb olebf/ ebrwro ib ibf pbkl gljr dleqb 

ebozjbo / dbdup pbkl sbf ebojbo olebf/ olwro ib ibf pbkl sbf 

wbjbo tr elobal dbrgbrhbr olenbf sf mbebyuml yufguqbrmlal 

tbfnbf maol dbrawl tTybpol dbkb olebf/  

 ebr wro sbf wrowrpwbr gleybrf-gleybrf( gTibeGr... 

gTibeGr..) ib pbeb tlqb gljr ebebhb hmlpzwbr gUml duybal hdle 

wbgb jbob olebf / 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 tTyuol nLibhbr Rbfzab mloa hugb dbhuhbr ybfzeb euiboue ;-  

 

      (i) Dbrazwl qbfzab Drnzdbozml duybal wbgbfb ; 

(a) gljr 

(b) gljreb 

(c) Drnzdbozml 

(d) duozml 

01 

 

 

 

 

      (ii) obeztazeuRb Grybal wbrib; 

(a) ebebhb 

(b) gljrhb 

(c) sbhb 

(d) eobhb 

01 

 

 

 

 

      

(iii) 

Dbrazwl Rbfzab Rlguhbr duo duozybfb; 

(a)  Drnzdbo 

(b) gLf 

(c) glmb 

(d) vribml 

01 

 

 

 

 



      (iv) Drnzdbozml obezhb sbribal huozob wlgbtrRb IbDzDu; 

(a) gfzhb 

(b) gljrhb 

(c) ebebhb 

(d) Drnzdbozhb 

01 

 

 

 

 

      (v) glezybrf-glezybrf ib DbtrRb dle wbgb; 

(a) Ppbibf 

(b) gljr 

(c) gljreb 

(d) sb 

01 

 

 

 

 

dbgro 

ofzebD 

                      gbgroyf nLibhbr 

ofzebD                 

   (16)    

      3. dbgro ofzebD 3 hbr fbab dbgrozml nibhbr ybf / hbr qbfzab dbhusf 

wuab dbgrozmlhbr wbyf sbnzDu ;- 
4x1=4 

 

     (i) tTyuol nibhbr  dbhu sbf  mazqb  √ (ouglo) hbr glozsuf  nbhu;- 

mrnzdln  qrezab  hbrwlhbr  eyba ? 

(a) wuab  hbrwl 

(b) fbab  hbrwl 

(c) puazab  hbrwl 

(d) guezab  hbrwl 

  01 

 

    (ii) tTyuol nibhbr  yfzwbml  dbhu  hmzsf  ybf  ebrqb  √ (ouglo) hbr  

nbhu;- 

(a) PibyuGra  dle  dbkb 

(b)  ebrgbhb  dbkbal  dlezabml  euib 

(c) alibgbf  ebozmribf  dbkb 

(d)  guezoleb  dbkb 

  01 

    (iii) tTyuol  nibhbr  yfwbRb  hazDbqb  √ (ouglo) hbr glozsuf  nbhu;- 

euyb  olhbr Rl ? 

(a) Pabml  prnzerpzhbr yfglib  euybol wbre 

(b) euyb  olhbr  ofabn 

(c) euyb  olhbr  yfwb 

(d) euyb  olhbr  queu 

  01 

   (iii) tTyuol  nibhbr  yfglibRb  grezjuf  dbfbral  ha  yfglibRb  

grnyf  sbnzDu;- 

     dbrgbhb  hdle  hrezgu / 

(a) Pdle  hrezgu 

(b) Ndbkb 

(c) duyb 

(d) cbDzDb 

 

     4. 

     (i) 

tTyuol  nibhbr  yfwb  mlRb  dbhusbf  haDbRb  √ (ouglo) hbr 

glozsuf  nbhu;- 

    mrnzabibf- 

   01 



(a)  dbrabr 

(b)  hfab 

(c) ebrabr 

(d) dbrml 

    (ii) tTyuol  nibhbr  yfwb  mlRb  dbhusbf  haDbRb   √ (ouglo) hbr 

glozsuf  nbhu;- 

      hrozabibf- 

(a)      hfab 

(b)  dbrabr 

(c)  dbob 

(d)  ebrabr 

  01 

    (iii) tTyuol  nibhbr  yfwb  mlRb  dbhusbf  haDbRb  √ (ouglo) hbr 

glozsuf  nbhu;- 

       ebfzabibf- 

(a) dbrabr 

(b)  hbrabr 

(c) ebrabr 

(d) hfab 

   01 

    (iv) tTyuol  nibhbr  yfwb  mlRb  dbhu  ebfabnbf  yfglib  ybhbf hazDbqb  

√ (ouglo) hbr glozsuf  nbhu;- 

(a)  dbrgbhb  ibyf  fbwf  Drib 

(b) hfabhb  fbwf  Dribf 

(c) hbrgbhb  fbwf  Drib 

(d) ebrgbhb  fbwf  Drib 

   01 

     5. 

 

      (i) 

tTyuol  sbnzDbhbr  yfzwbml  Rbfzab  dbhu  hmzsf  yfwb  duybhbr  

ybhbf  ebrRb  √ (ouglo) hbr glozsuf  nbhu;- 

(a) ofzabn  olhbr  dbhu  sbf  abml  DunzDlo  

(b) ofyf  of  ofGbozwbhbr  qbrzeu  dbfzabeu  yfglib  ofabn  ol  

wbre / 

(c) klgbe  punzerp  yfglib 

(d) glozsuf  punzerp  yfglib  ofabn 

   01 

   (ii) tTyuol  sbnzDbhbr  yfzwbml  Rbfzab  dbhu  hmzsf  yfwb  duybhbr  

ybhbf  ebrRb  √ (ouglo) hbr glozsuf  nbhu;- 

(a) abml  punzerp  yfglib  euyb  ol  wbrezme 

(b) jbkbof  punzerp  yfglib  euyb  ol  wbrezme 

(c) of  punzerp  yfwb  euyb  ol  wbrezme 

(d) ofebD  punzerp  yfwb  euyb  ol  wbrezme 

  01 

   (iii) tTyuol  sbnzDbhbr  yfzwbml  Rbfzab  dbhu  hmzsf  euyb  yfglib 

duybhbr  ybhbf  ebrRb  √ (ouglo) hbr glozsuf  nbhu;- 

      qbpzeu-  hfab  abra  mbfb / 

(a) ebr  ebaLma  ybf  

(b) hfab  mbYib  qufeb  elo  wuib 

   01 



(c) ouwbra  wlgb 

(d) dbozou  wlgb 

   (iv) tTyuol  sbnzDbhbr  yfzwbml  Rbfzab  dbhu  hmzsf  euyb  yfglibqb  

qbpzeu  hugb √ (ouglo) hbr glozsuf  nbhu;- 

      ofabn; wlezdbo  mbou  wlgb / 

(a)    dbrgbhb  dbjbD  qufb 

(b) trozdbebhb  nbrnzdbo  mbouhbr  vbfgb 

(c) wrnznb  nbkb 

(d) auplib  nbkb 

   01 

     6. 

 

     (i) 

tTyuol  sbnzDbhbr  yfzwbml  Rbfzab  dbhusf  ha  yfglib  jRzRrab  

mrn ybf  ebrRb   √ (ouglo) hbr glozsuf  nbhu;- 

(a)    dbob  pmrn 

(b) hfab  mrnzfb 

(c) dbobml  pmrnzml 

(d) dbrabr  mrn 

   01 

   (ii) tTyuol  nLibhbr  yfzwbml  Rbfzab  dbhusbf  tib  mrnhbr  yfwb  

nibhbr  ybhbf  ebrRb   √ (ouglo) hbr glozsuf  nbhu;- 

(a)    dbobml  pmrnzml 

(b) hbozabozml  mrnzml 

(c) hfab  mrnzfb 

(d) dbob  pmrn 

   01 

   (iii) tTyuol  nibhbr  yfglibmlRb  jugu  queu  ybf  ebrRb  √ (ouglo) 

hbr glozsuf  nbhu;- 

(a)    hfabhb  abra  mbrf 

(b) hfabhb  abra  mbfb 

(c) dbobhbr  abra  pmbo 

(d) ebrgbhb  abra  mbhbr 

   01 

   (iv) tTyuol  nibhbr  yfglibqb  ebyf  queu  ybf  ebrRb √ (ouglo) hbr 

glozsuf  nbhu;- 

(a)    mbrf 

(b) Ppmbozhbr 

(c) Mmbmlyb 

(d)  embrml 

   01 

    7. tTyuolnLibhbr xuilpzvuf   elozsua nLibal qbrnzDu;- 

    gbarib ! gbarib !! pbjbob gbarib 

    obob-juib olsb olsbeb 

    Dbrflozal euylozor gbarib / 

   

    obob dbob juqb pjbob 

    hazDbD glwl euebwl 

    jujusf obobhbr mazqb 

    glwl eueb Gbebwl / 

  

5x1=5 

 

 

 

 

 

 

 

 

 

 



     olsb- olsbeb Jbkbhb dbobolo 

     juqbfb jbozeb wl 

     juju obobmlhb euibhbr 

     Jbkbhb glozebwl / 

 

     gbaribhbr guozquezhb 

     hbozabozab Jbkb hazsue wlglozab 

     abrnb abrebmlhbr ouelozque  

    pbrazpuezor hbrgbrhbr punzyf duo / 

 

 

 

 

 

 

 

 

 

 

 

 tTyuol nLibhbr mloa huozgb hGbozRb ybfu ;  

       (i) Dbrflozal euylozor gbarib- puezqb Dbrflozal ql eueb qbrDzybf;-  

(a) Kbrezeb 

(b) gbybra 

(c) Gbarib 

(d) hbramb 

01 

 

 

 

 

     (ii) pueRb :glwl: Rlgbrhbr gbofzRb ybf;- 

(a) ofzoumb 

(b) hbrazmb 

(c) ebjl glwl 

(d) gbarib 

01 

 

 

 

 

 

      

(iii) 

 hbozabozab Jbkb hazsue wlglozab-yfzebhbr que ql; 

(a) que ebrazeb 

(b) dlebhbr olf 

(c) gbarib glwl euebhbr olf 

(d) iazdbqb dbDzebhbr olf 

 01 

 

 

 

 

(vi) olsb – olsbebmlhb Rl glozebwl ? 

(a) gbarib glozebwl 

(b) hjuqb dbfebwl 

(c) juju obobmlhb  mlozDbhbr  punzebwl 

(d) gbaribhbr olhla punzebwl 

01 

(v)      gbaribhbr guozquezhb ql punzplo ? 

(a) qbrf wbgbhbr ybrazmb 

(b) qbrf ibfbhbr ybrazmb 

(c) hbozabozab Jbkb hazsue wlglozab 

(d) glwl Kbrezeb 

01 

    8. tTyuol nLibhbr sbnzebklsbnzhbr elozsua nLibal qbrnzDu ;- 

     hawro gljrebhb dbrawl qbfab jqzqr prndboml duybal wbgb 

jbob olebf/ ebfabrwro ebr Drndboml obetaouqb Grybal hsb- 

dbhbr Drndboml ouwbraol dbfu, hfab dbrawl qbfab maolfb 

wbjbozfb yfb/ dbroal dbrabr gfzml wbegl dbrawl tTybpzol dbkb 

olebf/  

 ebr wro wrowrpwbr obe sbrgb  wlgb   olebf/ dbrawl qbfab 

gfzml duybal gljrebhbr ebeb hdle wbgb jbob/ hduoml obozpbal 

gljrebhb Drnzdboml  dbfeb  tlqb  wrowrpwbr  obe  taouhb 

5x1=5 

 

 

 

 

 

 

 

 

 

 



Drndboml sbribal hmlwbr wlgbhbr ybhbfb olebf/ ebr pbrazpbal 

gljrebhb elobfb, hby gljrhb Drndboml ouwbrazol ebodbfb, 

hbralhb oleobmlhb Drndboml dgb nib oltr/ dbroal dbrabr 

jqzqr mkaznb abkbal hsb nbpzpu of Ibpzpu olebf/ 

 hbhl pbkl jIr ougbribe euybfgb pbhbr ebeb qbfab nbpzml of 

Ibpzml clpzeb tlqb gljrhbr sbf jqzqr abrfpua euibal hdle 

slkb olebf/  

 hsbhb hmbr yfml eboabfhbr elobal gljreb jqzqr mkaznb 

abkbhbr ybhbfb olebf/ hbralyb hsb dle slkbal wbroeb tlqb 

dbrgbhb qlpzsbf eboelob olebf/ ebrwro ib ibf pbkl gljr dleqb 

ebozjbo / dbdup pbkl sbf ebojbo olebf/ olwro ib ibf pbkl sbf 

wbjbo tr elobal dbrgbrhbr olenbf sf mbebyuml yufguqbrmlal 

tbfnbf maol dbrawl tTybpol dbkb olebf/  

 ebr wro sbf wrowrpwbr gleybrf-gleybrf( gTibeGr... 

gTibeGr..) ib pbeb tlqb gljr ebebhb hmlpzwbr gUml duybal hdle 

wbgb jbob olebf/ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 tTyuol nLibhbr mloa huozgb hGbozRb ybfu ;  

     (i) Sbnzebklsbnqb gljreb qral dbrazwl dbD ? 

(a) glmb wbezgl 

(b) ybib wbezgl 

(c) sb wbezgl 

(d) gf wbezgl 

01 

 

 

 

 

 

 

     (ii) Drnzdbozml Jbkb sbribhbr ybfb, qlgbhb ? 

(a) tazhb 

(b) ib tbrezgbal 

(c) obehb 

(d) mbYibhb 

01 

 

 

 

 

     (iii) gljrhb dle slDzebhbr guozque ql ybfb ? 

(a) dlehbr abml ebozDbargbal 

(b) abgue wlgbal 

(c) aeb abkbal 

(d) ebebhb IbDzDbal 

01 

 

 

 

 

  (iv) gljrhb dle slpzebhbr que ql ybfb ? 

(a) ebeb  Rbfzab  Ibmzmb  wuibal 

(b) abml eueb gbreb  abkbal 

(c) abgue wlgbal 

(d) tuhlyb abrozeb  elobal 

  

01 

   (v) Mgljrebhb gbhbfhbr olf mbebyuml  hyufzgb 

(a) nbnbhbr  olf 

(b) dbrabr gbab  wu olal 

(c) hsb  gljrhbr olf 

(d) hybibmlhbr olf 

01 



   09 tTyuol nLibhbr dbgromlhbr wbyf sbnzpu 4x1=4 

    (i) trpzsbauib  qrob  hlezgbmb ? 

(a) gbab gLhbal 

(b) hobobml ebozDbal 

(c) hlnzeb  aufzgbal 

(d) tbrpzpbal 

01 

   (ii) obob pbfibeb-dlibeb  qrob  etbgbozml ? 

(a) edlybal 

(b) holsb  hlezgbmbal 

(c) holsb gLib  elobal 

(d) mbeb  ebozDbrazal 

01 

   (iii) juglD iagf  gbfhb  nuazwb  euib ? 

(a) nbprgfhb 

(b) qlwuequfebhb 

(c) pbfibeb-dlibebhb 

(d) trpzsbaunznbhb 

01 

   (iv) Mmbazkbrfqlebhb  ql  mLib ? 

(a) trpzsbauib  grDzeb  wbeb 

(b) fbazgl  DbfRb  ibfb 

(c) trpzsbauib  hgbrozDb 

(d) trpzsbauib  Klwb 

 

01 

 


